FPY  MuLTivmunlE CNing |, Sumea 20 B2

alx,u,2)= a2+ 30> + 22" + Wz +bx 2 —how — 24 =0
v ) N J

Qg z2x +bz ~by Ba.-(ou y22-4x , 9g =l sy rboc

oX

ok (2, 6,-2)

0= /20) v bl-2) b)) \ = /4 -z =24 )

blb) + 2.(-2) - tg-(?.ﬂ | 36-t -8

|

=
2¢)

‘IS s A dareckion [t

i
B
\\ A1) + 2(b) +é(_z.)// \-2+2412 J |

3

[ 3
\\2—,
NOAMAL Linve  is [\ /?-\ /-lr
( \=f6] v 23
\t) \-1] \2
(i) | h= S =9g 6x +©0585+8018&
- oL oY ot
= -32(-42)+ 26{32) + 16(22)
= 132 A
=S A= h
232
distoace s A l/"f" =2 \{irzf.li r 2%
I3
{2
= AJ09
= lhid2s




n sy ]

(i)__cormal_ine is_ / o4 axis W

:ll + 672 - 54*5 " J "'1
v}% vy 12 ‘Lf'_;(_): kik’
Lz Jr'Zj':blI L)/
_@___21+6z;45=0 O+®: by + lw« =0
6X th2 4:__25 =0 oy AL 5 = -0
_@___ng,l{;_gl_iw’tg =6 ¢ St in O 2% Fb2 ot =0

2 =-2L
o )os},mm__gi 2 4 314 2(-x ¥ + 2(-206x) 5 bx(-2¢) =\pl=a) =26 O
R 2 4 3 b 1Y% 4 1x? - bx? Yyl xt U =0

ox t - 2% =0
* =
» -
—._pois_ase (2,-2,-2.) el (-2.2.2)
W) Wa=wsr 22 =26 S vq s a mabpe of [
2
. {Ilxx 63 -Lrg\ o O_ O 2x +62 “Yy = op__ ©
_€65+12_-}rac j S_pltte %612y 18z H*S - La—u ®
A\ &2 x Tat b lj@ O e v lez ~ =jep  ®
X o hee b i most effident o we MATEICES on yous CALUAATOR ,
L@ 18y (35 22 = 6bu ©. Pwmlovami._,* _]Ll,’}/{_...—_
@ S vy x 23 5 o b vl 2 = bex 202
B-©0 Dx vz =iy ® 62 =30
__Q,E,Z___ e X x0% = u B z2 = -5

A for 2w @ dx vo(- Sac) - by =lon > -2%x -@3- 1op
SEERVNOM 65 r2(- 53;) e - o bj Mex = M

L 1ops ~2_§;c.-—_L_+__5.__=: 60 X140 L
S 0= 166 D 4TI




_osdal froy&2 is plane: 10x = 3x v 2f ~Sx ) =6

~Sx =6

X_= -2,

R —ponk of ootk s _(-2,-6. 10)_

BRI Ko fof (v} _4o_Fad_iaverse  makmix .




